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Rewrite the function in vertex form by completing the square.

f(x)=x?-2x-3

x?-2x-3=0 Change from f(x) = to =0

x? - 2x =3 Move the -3 (make it +3)

x?-2x+1=3+1 (b/2)2 = (-2/2)2 = (-1 =1
(x-1¢ =4 Factor using the -1 above
(x-1¢-4=0 Move the 4 (make it -4)

f(x)= (x-1y-4 Switch back to f(x)

Vertex: (1,
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Rewrite the function in vertex form by completing the square.

f(x) = x2 - 12x + 37

x2-12x+37=0 Change from f(x) = to =0

x? - 12x =-37 Move the +37(change to -37)

x? - 12x+36 = -37 + 36 (b/2Y = (-12/2) = (-6)= 36
(x-62 =-1 Factor using the -6 above
(x-6+1=0 Move the -1 (change to +1)

f(x)=(x-6)+1 Switch back to f(x)
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Rewrite the function in vertex form by completing the square.

f(x)=2x?-8x- 3

2x?-8x-3=0
2x? - Bx =3
2(x2-4x )=3

2(x?-4x+4)=3+8

2(x-2y =11
2(x-2¢-11=0

f(x)=2(x-2)-11

Change from f(x) = to =0

Move the -3 (change to +3)

Divide the left side by 2 (leave the 2)
(b/2) = (-4/2) = (-2) = 4

8 has to be added to the right side (4*2=8)
Factor using the -2 above

Move the 11 (change to -11)

Switch back to f(x)
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Rewrite the function in vertex form by completing the square.

f(x) = -2 - 20x - 46

-2x? - 20x -46=0 Switch from f(x) = to =0
-2x? - 20x =46 Move the -46 (change to +46)
-2(x? + 10x )= 46 Divide the -2 (leave it there)

-2(x? + 10x + 25) = 46 + -50 (b/2)?=(10/2)2= (5)2= 25
-50 has to be added (25*-2 = 50)
2(x+5) =-4 Factor using the 5 above
-2(x+5y2+4=0 Move the -4 (change to +4)

f(x)=-2(x+5)2+4 Switch back to f(x)

Vertex: (-5,4)




